Properties of Real Numbers N o
The Additive Inverse of a number is its OPPOSITE.

Let a, b, and c represent real numbers.

Property Addition Multiplication The opposite of a numberis....

Closure a + b is a real number. ab is a real number.

e The same distance from zero but on the other side of zero
Commutative a+b=b+a ab = ba e Same # but different sign
® The sum of opposites is always ZERO.

Associative (a+b)+c=a+(b+c) (ab)c = a(bc)
Identity a+0=a,0+a=a a-l=a,1-a=a
Inverse a+(-a)=0 a-% =1,a #0
Distributive a(b +c)=ab + ac

Find the opposite and reciprocal of each number

The Multiplicative Inverse of a number is it's RECIPROCAL. . .
Opposite Reciprocal
The reciprocal of a number .... -O_ 1 3_ ~ O \ 7> . __LCLQ
® Is one over that number 00 i | >
® Has the same sign as that number —5
® The product of a number and its reciprocal is always ONE. 5 5 17 ; L/ -
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Are there any numbers that are reciprocals of themselves?

If yes, which ones?

AB-QC =W

State the restrictions on the variables.

i

Solve this equation for O.
AB-Q0C =W
Subtract AB from both sides “QC — \/\/ — /A\-B

Q_ \I\/_AB

Divide both sides by -C -
z -C

Solve this equation for K. State the restrictions on the variables.

il GK+E)-X=D
Add X to bothsides (5 (K + E\ =D+ X
distribute the G G+ GE = DX
subtract GE from both sides GK = D+Xx-GE
Divide both sides by G K= D_\;ZQ—/G;_E,

C’.\

Restrictions: Cq -')f O



Solve this equation for K. State the restrictions on the variables.

et G(K+E)-X =D

Add X to bothsides (5 (\( + F_,—\ =N+ X
divide both sides by G LyrE = D+Xx

subtract E from bothsides g~ . D¥X E
3

Restrictions: G‘ 10

Solve this equation for A. State restrictions on the variables.

AC —AE =N 1. Factor outA from the two terms on the left side

2. Divide both sides by the quantity C-E
Ai(E=5 ) =S
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C—6 Za(ca

ﬁ_ Restrictionz‘ - 5 —# 0
¢t OF-

CHAE

A=

Solve this equation for Y. State restrictions on the variables.
- - 1. Multiply both sides by G
RY-B _ 2. Add B to both sides
G =K 3. Divide both sides by R
|

Y = K C +_E Restrictions: @#0
R 6G+#0

Solve for R. State restrictions on the variables.

. Add B to both sides

. Mult both sides by A

. Square both sides

. Add Mto both sides

. Divide both sides by K
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R = (Q +\B>A 3+ /M Restrictions: A':/L’O
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Solve for C. State restrictions on the variables.
Pl 2 . )
(,____ A\Q = g - 1; . (- Muliplybothsides by (C-A)

6a =p= LETP

distribute Q on the left side of the equation

- C, +AQ - C, + AQ subtract C from both sides and add AQ to both sides
Q- = ?*F‘\q C= P-\-A(;}
Factor cC—\
e (’C (@-1) = PYAQ
SR O\T divide both Restrictions:
Q e f] sides by Q-1

(-A+0 — CH#A
C-130 — C*|

Solve this equation for 0. State restrictions on the variables.

A

_ _K

MA— P G+ (O  CrossMuiply

A (GI + QS = k (/V\ - B divide both sides by A
A A

G+R=
-G

=Y

e

E{ﬁ\_—_?) subtract G from both sides
—

KD _ ¢
Q= /=
Restrictions:
+0
m-P3o - m#P
A0 = g4



